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PROBLEM

 Arrange in Ascending order : 
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Ex. Rafiq exercised for 
3

6
of an hour, while Rohit exercised for 

3

4
of an hour . Who exercised for a longer time?

Time taken by Rafiq for exercise = 
3

6
of an hour = 

3

6
of 60min 

3

6
x 60 min

= 30min.

Time taken by Rohit for exercise = 
3

4
of an hour = 

3

4
of 60min = 

3

4
x 60min

= 45min.

Therefore , Rohit exercised longer time to exercise. 

Since 
3

6
and 

3

4
are unlike fractions with same numerators , the fraction with the smallest 

denominator is greater. Therefore Rohit exercised  longer time than Rafiq



PROBLEM
Sara, Reshma, and Krutika had donated 

2

3
rd , 

5

6
th and 

4

5
th of their monthly 

pocket money to a relief fund which was collected by the school. Find who 

donated more money to the relief fund?

 Answer : Sara                            Reshma Krutika
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Reshma donated more to the relief fund



THANK YOU


